Simulab – Velocity Distribution

1. Start VMDL

2. Click Molecular Motion

3. Double click for diffusion

4. For graph click velocity distribution

Note: Both green and blue have a mass of 1. (Green is always 1 – it is the ratio here that is important)

5. What would you expect if velocity of green vs blue if the mass is the same?

6. Stop at t=100

               Green particles will always have a mass on 1.

At this point you and your lab partner(s) should reset your averages and set blue particle masses  as follows:

trial 1  Set mass of blue particle to 0.1

trial 2  Set mass of blue particle to 0.5 

trial 3  Set mass of blue particle to 2.0 

trial 4  Set mass of blue particle to 4.0

trial 5  Set mass of blue particle to 10.0

7. Run each simulation for 600 time units.

8. Show averages, velocity increases as particle mass decreases although net kinetic energy remains constant.

9. Graph average velocity of blue particles relative to green on the x axis, put mass of blue particles on y axis.  Mass will be in mass units while we have no relative units for velocity differential.  So, run your x axis as….

Blue has much higher velocity…Blue has higher velocity… Velocity of each are even… Velocity of blue is higher…velocity of blue is much higher than green.

